
 

 
 
 
 

the ordered pair's graphing activity 
 
Graph the following points in order, connecting them as you go. When you 
see “polygon closes,” start a new set of line segments.  

 
 
(8, 3) 
(3, 3) 
(0, 0) 
(-2, 0)  
(-5, -3) 
(-2, -3) 
(-3, -4) 
(-6, -4) 
(-7, -5) 
(-2, -5) 
(1, -2) 
(3, -2) 
(6, 1) 
(3, 1) 
(4, 2) 
(7, 2) 
(8, 3) 
 
Polygon closes 
 
(0,0) 
(3, 0) 
(2, -1) 
(-1, -1) 
(-2, -2) 
(1, -2) 
 
Polygon Closes 
 
 
 
 
 
 
 
 
 
 
 

You should see two 
interlocking letters. 

This figure tessellates. 
That means you can 

fill the page with                                                                                                                                                                    
interlocking figures. 

 

How many 
complete letters 
can you make? 

 

 


